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of a line
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Point-Slope Form of
a line
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y-y1=m(X-Xxi)

Equation for a Circle
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Plane
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Polynomials
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Quadratic Formula
ZIRA
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Difference of Two

a’-b°=(a+b)a-b)

Squares
Perfect square a’+2ab +b” = (a+h)°
trinomials a’-2ab+b?=(a-b)’

ety =i




Logarithms Change of Base loga n = :ﬁgﬂ

X %5 Formula %3
LA o3 2\

Probability Permutations P(n,r)= n!

and Statistics | 34 &5 (n-r)!

eI Combinations c(nr)=, "
Hedery C7 ()i
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Trigonometry | Pythagorean a’+b*=c’
=A% Theorem
BRIk w2
Law of Sines sinA_sinB_sinC
5% E 2R a b
Law of Cosines a’=b?*+c’ - 2bc cos A
RIXEH
Trigonometric . 0 adj 0
Fur?ctions sin = H;%E cos = h_Yé tan o= EII%J'IQ
IR csc 9=%%E sec 9=%%j9 cotezg—gjr;
Quotient Identities sin @ cos 8
= ftass @ 0=Cos o % sing
Reciprocal Identities 1 1 1
RN ScO=5ine % coso ““tang
Pythagorean cos® @+sin® 9=1
Identities tan’ 0+ 1 = sec’ 0
Yeik AR E S | cot® 6+ 1=csc® @
Algebraic Additive Identity Forany numbera,a+0=0+a=a.
Properties IR EE R, XTAERH T a,a+0=0+a=a.
B 5 Multiplicative Forany numbera,a-1=1-a=a.
Identity ST R T aa-1=1-a=a.
P a5 A
Substitution (=) If a = b, then a may be replaced by b.
AR (=) WAk a=b, W/ATEUH b REA a.
Reflexive (=) a=a
H A (=)
Symmetric (=) Ifa=b,thenb=a.

XFRHL(=)

i a=b, 4 b=a.

Transitive (=)

Heid (=)

Ifa=bandb=c,thena=c.
m¥a=b Hb=c, M4a=c.




Commutative (+)

Forany numbersaandb,a+b=b+a

A () SHEE S af b, atb=b+a
Commutative (x) For any numbersaandb,a-b=b-a.
B (X SHEEE af b, a-b=b-a

Associative (+)
aiam (o

For any numbers a, b, andc, (a+b)+c=a+ (b +c).
XA a, b, flc, (a+b)+c=a+(b+c).

Associative (x)
gigH (X0

For any numbers a, b,andc, (a-b)-c=a-(b-c).
YT R a, b, fllc,(@a-b)-c=a-(b-c).

Distributive
WAMLRE "

For any numbers a, b, and ¢, a(b + c) =ab + acand a(b —c) = ab
—ac.
SHE =% a, b, flc,a(b+c)=ab+ac H a(b-c)=ab-ac.

Additive Inverse

For any number a, there is exactly one number —a such that

J[IRES Ui a+(-a)=0.

MR EE a4 BAH A4 -a, ffif3 a+(-a)=0.
Multiplicative For any number 2 where a, b # 0, there is exactly one number b
Inverse b a
ESESUPY such that % : g =1

XERH S, B 8, b= 0, A FLOCH— AT 2, 2

9 = 1

a

Multiplicative (0)
P (0)

Forany numbera,a-0=0-a=0.
X%l a,a-0=0-a=0.

Addition (=) For any numbers a, b, and c, ifa=Db,thena+c=Db +c.

iz (=) XAEE S a, b, Mc, i a=b NMa+c=b+c.

Subtraction (=) For any numbers a, b, and ¢, ifa=b,thena-c=b-c.

ik (=) MRS a, b, flc, i a=b, Wa-c=b-c.

Division and For any numbers a, b, and ¢, with ¢ = 0, if a = b, then ac = bc and

Multiplication (=)
BRiZFIERIE (2)

a b

c ¢C

ST % a b #lc c=0, ﬁm%azb,mUaczboa%:g.

Addition (>)
i ()

For any numbers a, b, and ¢, ifa>b,thena+c>b +c.
s a, b, flc, i a>b, Wa+c>b+c.

Subtraction (>)

ik (>)

For any numbers a, b, and ¢, ifa>b,thena-c>b-c.
WAEE S a b, Mc K a>h Ma-c>b-c.




Division and
Multiplication (>)
FRiz AR (>)

For any numbers a, b, and c,
1. ifa>bandc >0, thenac > hcand %>%.

2. ifa>Dbandc <0, then ac < bc and %<%.

YT EAL a, b, Ml c,
1 a>b He>0, I ac>be H %>%

Zﬁn%a>bﬂc<0,ﬁlﬂac<bcﬂ%<%.

Zero Product

For any real numbers a and b, if ab =0, thena =0, b =0, or both

E4ER a and b equal zero.
RAT RS a b, Wik ab=0, M a=0,b=0, 2 a Fl b #B5F
TF
Perimeter and | Square P=4s
Circumference | [EJ7JE
JAK AR Rectangle P=20+2w
KITE
circumference of a C=2nrorC=nd
circle C=2nr 8% C=nd
RS
Area Square A=¢
[iag EJ5F
Rectangle A=/worA=bh
KI7 B A= /(w5 A=bh
Parallelogram A=bh
AT IILE
' 1
%%Eezmd A =3h(by + by)
Rhombus A =2did; or A = bh
ST :
Azidldz ng: bh
Triangle A =3h
=S¥ 2
Regular polygon A=1pa
iEZ i :
Circle A= nr?
Z5iZ
Sector of a circle A= o
K 360
Lateral Prism L =Ph
Surface Area | B4k




T AR Cylinder L = 2xrh
AT A4
Pyramid L=1py
HEAA 2
Cone L = rtr/
[ A4
Total Surface | Prism T=Ph+2B
Area BAEAE
SN A Cylinder T = 2nrh + 2nr?
[ A A4
Cube T =657
RYASE LS
Pyramid T= lpg +B
HEAAR 2
Cone T =nrd + nr?
[ A4
Sphere T=4nr
BRAK
Volume Cube V=s¢
3 ST
Rectangular prism V = /wh
FOEAAEAE
Prism V =Bh
AT
Cylinder V = nr*h
AT A4
Pyramid v = 1igh
HEAAR 8
Cone V=Leth
A 44 1 3
Sphere V=23
BRAK 3
Measurement | Length 1 kilometer = 1,000 meters 1 foot = 12 inches
Conversions K i 173 H =1,000 1R =12 JE-)
EERARE 1 meter = 100 centimeters 1 yard = 3 feet or 36 inches

1 % =100 JE K
1 centimeter = 10 millimeters

15K =10 =K

1/ =3 %R or 36 )

1 mile = 1,760 yards or 5,280
feet

1% =1,760 f5 or 5,280
EIN




Volume and Capacity
PRFRFIZE A

1 liter = 1,000 milliliters
1 A7+ =1,000 =Tt
1 kiloliter = 1,000 liters
1-T7JF=1,000 A7}

1 cup = 8 fluid ounces
1 #F =8 Wi W

1 pint = 2 cups
1A =2 B

1 quart = 2 pints
15 =2 Sl

1 gallon = 4 quarts
1t =45

Weight and Mass

1 kilogram = 1,000 grams

1 pound = 16 ounces

Eie=v 1))y~ 1 A7 =1,000 g 1165 = 16 #+]
1 gram = 1,000 milligrams 1 ton = 2,000 pounds
1 % = 1,000 % 1 I = 2,000 5%
1 metric ton = 1,000 kilograms
1AM = 1,000 AT
Time 1 minute = 60 seconds 1 week = 7 days
o ] 1 43%h =60 B 1R=7k
1 hour = 60 minutes 1 year = 12 months or 52
1 /N = 60 4y weeks or 365 days

1 day = 24 hours

14 =124 H 8 52 fH 8%

1Kk =24 /i 365 K
1 leap year = 366 days
1 4 = 366 K
Metric to Customary | 1 meter ~ 39.37 inches 1 kilogram ~ 2.2 pounds
A RIS | 1K »39.37 J&~) 15~ 2.2 %

1 kilometer = 0.62 mile
1 AH ~0.62 3H
1 centimeter = 0.39 inch

1 gram = 0.035 ounce
1 % =0.035 # A
1 liter ~ 1.057 quarts

1 JHK ~0.39 7~ 1 ATt ~1.057 % it
Temperature | Fahrenheit to Celsius | C = $(F - 32)
BB e %
Celsius to Fahrenheit | F= 2C + 32

FRREH K




	For any numbers a, b, and c, a(b + c) = ab + ac and a(b – c)
	For any number a, there is exactly one number –a such that
	For any numbers a, b, and c,
	if a > b and c > 0, then ac > bc and .
	if a > b and c < 0, then ac < bc and .
	对任意数 a, b, 和 c,
	1 如果 a > b 且 c > 0, 则 ac > bc 且 .

